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体配 套字母的常见
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y – 2x = 4
y = 2xy – 2x = 4

y = 2x
2x 0 ≠
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4(𝑥) + 4(3)
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3(−1)

= 𝑥2 − 𝑥 + 3𝑥 − 3
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CIRCLE the numbers

UNDERLINE the question

BOX the key words

ELIMINATE info not needed

SOLVE and check✓
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• There is a lot of money.
• It is in a pile.
• It is in bundles.

• Is it all the same 
denomination?

• How much does one bill 
weigh?

• How much does all the 
money weigh?

How much money was that? 1



• There is a lot of money.
• It is in a pile.
• It is in bundles.

• Is it all the same 
denomination?

• How many rows and 
columns are there?

• How many bills are in one 
stack?

How much money was that? 1







Main pile of money

Small pile of money

34 rows across

17 rows across

11 rows deep

1 row deep
8 bundles

high

10 bundles

Main pile: 34 rows x 11 rows x 10 bundles = 3,740 bundles 

Small pile (left): 17 rows x 1 row x 7 bundles = 119 bundles 

17 rows across

7 bundles
high

Small pile (right): 17 rows x 1 row x 6 bundles = 102 bundles 

Total bundles: 3,740 + 119 + 102 = 3,961 bundles

Total money: 3,961 bundles x $50,000 per bundle = $198,050,000

high Main pile of money

Small pile of money

34 rows across

17 rows across

11 rows deep

1 row deep
8 bundles

high

10 bundles

17 rows across

7 bundles
high

high
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• One pile of pipes is 
staggered.

• One pile of pipes is not 
staggered.

• We have to compare 20 
layers of each.

• What are the dimensions 
of a pipe?

• What units are we using 
to measure?

How much shorter are 20 
layers of non-staggered 
pipes?

13 20
8

(in inches)
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Non-staggered pipes

h
2h

3h

Staggered pipes

1 pipe = h cm
2 pipes = ?? cm
3 pipes = ?? cm...
20 pipes = ?? cm

1 pipe = h cm
2 pipes = 2h cm
3 pipes = 3h cm...
20 pipes = 20h cm
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https/robertkaplinsky.com/prbl-search-engine
https/robertkaplinsky.com/lessons
http://threeacts.mrmeyer.com/
http://estimation180.com/lessons.html
http://gfletchy.com/3-act-lessons





















